
1◦ Az els® sor elemeit a második sor megfelel® elemeihez hozzáadva:

D = (a+ b+ c)

∣

∣

∣

∣

∣

∣

a b c

1 1 1
bc ca ab

∣

∣

∣

∣

∣

∣

= (a+ b+ c)

∣

∣

∣

∣

∣

∣

−b b− c c

0 0 1
−c(a− b) −a(b− c) ab

∣

∣

∣

∣

∣

∣

=

= −(a+ b+ c)(a− b)(b− c)(c− a)

∣

∣

∣

∣

1 1
−c −a

∣

∣

∣

∣

= −(a+ b+ c)(a− b)(b − c)(c− a).

2◦

D =
1

abc

∣

∣

∣

∣

∣

∣

abc a
2
a
3

abc b
2
b
3

abc c
2
c
3

∣

∣

∣

∣

∣

∣

=

∣

∣

∣

∣

∣

∣

1 a
2
a
3

1 b
2
b
3

1 c
2
c
3

∣

∣

∣

∣

∣

∣

=

= (a− b)(b− c)

∣

∣

∣

∣

∣

∣

0 a+ b a
2 + ab+ b

2

0 b+ c b
2 + bc+ c

2

1 c
2

c
3

∣

∣

∣

∣

∣

∣

=

= (a− b)(b − c)

∣

∣

∣

∣

a+ b a
2

b+ c c
2

∣

∣

∣

∣

= (a− b)(b− c)

∣

∣

∣

∣

a+ b a
2

c− a c
2
− a

2

∣

∣

∣

∣

=

= (a− b)(b − c)(c− a)(ab + bc+ ca).

3◦ Az els® sort a többi sorból kivonva, ered:
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